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cpO²¾rWr qeqJAp²¾ 
(\¥Op^r EdXp) 

POLITICAL SCIENCE 
(Punjabi Version) 

g`p£ gr`p£ : 3 K¥Ry   \vc²¾ A¥H : 100 
Time allowed : 3 hours Maximum Marks : 100 

 qHc\p HcHy q²¾crIV Hc} de} qH qBg \of²¾ \§Wc Wy N\y h}By 11 \¥²y¾ h²¾ & 
 \of²¾ \§Wc Yy E¨\c g§Oy h§X qY§Wy JBy H}T ²¥¾. ²¥¾v \orqIApcXr E¨Wc \tgqWHp Yy 

`t§I \¥²y¾ Wy kcvc qd§IV & 
 qHc\p HcHy YyI de} qH qBg \of²¾ \§Wc qeM 27 \of²¾ h²¾ & 
 qHc\p HcHy E¨Wc qdIVp ftcv Hc²¾ W~ \qhdp£, \of²¾ Yp n`p£H (grqcAd ²¥¾^c) kcvc 

qd§I} & 
 qBg \of²¾ \§Wc ²¥¾v \mª²¾ Yy dBr 15 q`¥R Yp g`p£ qY§Wp qJAp h± & \of²¾ \§Wc 

geycy 10.15 eOy e¥Ty OpVJy & 10.15 eOy W~ 10.30 eOy WH \orqIApcXr Hyed \of²¾ 
\§Wc ²¥¾v \mª²¾Jy AWy qBg g`y qeM Eh E¨Wc \tgqWHp qeM H}Br E¨Wc ²¾hr 
qdIVJy & 

  Please check that this question paper contains 11 printed pages. 

  Code number given on the right hand side of the question paper should be 
written on the title page of the answer-book by the candidate. 

  Please check that this question paper contains 27 questions. 

  Please write down the Serial Number of the question before 
attempting it. 

  15 minute time has been allotted to read this question paper. The question 
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 
students will read the question paper only and will not write any answer on 

the answer-book during this period. 

SET-2 
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qeAp\H q²¾cYyf : 

(i) gpcy \of²¾ kcvcr h²¾ & 

(ii) \of²¾ g¥qIAp 1 – 5 WH hc qBH \of²¾ qBH A¥H Yp h± & hc qBH \of²¾ 

Yp E¨Wc 20 f^Yp£ W~ eZycy ²¾hs h}Vp MphrYp &  

(iii) \of²¾ g¥qIAp 6 – 10 WH hc qBH \of²¾ Y} A¥H Yp h± & hc qBH \of²¾ 

Yp E¨Wc 40 f^Yp£ W~ eZycy ²¾hs h}Vp MphrYp & 

(iv) \of²¾ g¥qIAp 11 – 16 WH hc qBH \of²¾ Mpc A¥H Yp h± & hc qBH 

\of²¾ Yp E¨Wc 100 f^Yp£ W~ eZycy ²¾hs h}Vp MphrYp & 

(v) \of²¾ g¥qIAp 17 – 21 WH hc qBH \of²¾ \¥O A¥H Yp h± & hc qBH 

\of²¾ Yp E¨Wc 150 f^Yp£ W~ eZycy ²¾hs h}Vp MphrYp & 

(vi) \of²¾ g¥qIAp 21 `p²¾qM§Wc ApZpqcW \of²¾ h± & E¨Wc Ap\Vr E¨Wc 

\tgqWHp qeM qd§I} & 

(vii) \of²¾ g¥qIAp 22 – 27 WH hc qBH \of²¾ Ny A¥H Yp h± & qB²¾ªp£ qeM~ hc 

qBH \of²¾ Yp E¨Wc 150 f^Yp£ W~ eZycy ²¾hs h}Vp MphrYp & 

 

1. qBgWor gfHWrHcV Yy ed qdOpV epdp O²¾ A¥Y}d²¾ qHhmp gr ? 1 

2. ‘JS¾^¥Z²¾ gcHpc’ Yr Zpc²¾p ²¥¾v g\fR Hc} & 1 
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3. ford¥Hp qeM ²¾gdr g¥Kcf Yy ^pcy qeM hyS¾ qdqIAp£ qeM} qHhmp HX²¾ JdW 

h± ? 1 

(a) ford¥Hp qeM cpO²¾rWr Itdyª W¡c Wy qg¥hpdrAp£ d}Hp£ Yy \§I qeM gr & 

(b) Wq`dp£ Yy qhWp£ ²¥¾v A²¾YyqIAp HrWp Op£Yp gr & 

(c) Wq`d Byd` Yy qd^cyf²¾ RpqBJck ²¥¾v gpcH Yyfp£ Yp g`cX²¾ gr & 

(d) ford¥Hp qeM cpO²¾rWH g`p²¾Wp ²¾hs gr & 

4. 1977 qeM Hp£Jcyg \pcRr Yr hpc Yy qHgy qBH Hpc²¾ Yp qefdyfV Hc} & 1 

5. ‘\§N`r JtR (JS¾^¥Z²¾)’ Yp Hr _pe h± ?  1 

6. _pcWr qeYyf ²¾rWr Yy AOyhy H}Br Y} \§I EOpJc Hc} qOhmy \¥. Oephcdpd 

²y¾hcv W~ ^htW qkApYp \o_pqeW g²¾ & 12=2 

7. Hpd` ‘A’ qeM qY§Wy JBy ²¾p`p£ Yp Hpd` ‘B’ qeM qY§Wr h}Br OpVHpcr ²¾pd 

AcX\vc²¾ `yd Hc} :  
2

1
4=2  

   Hpd` ‘A’       Hpd` ‘B’ 

(a) Yvgcr \¥Oecfr a}O²¾p (i) ^dcpO `Z}H 

 Yy a}O²¾pHpc 

(b) O²¾g¥K Yp ²y¾Wp (ii) `¡dp²¾p A t̂d Hdp` ApkpY 

(c) geW¥Wc \pcRr Yp ²y¾Wp (iii) \r.gr. `hpd²}¾q^g 

(d) qh¥Yv `tgqd` ByHWp Yy (iv) `r²¾¯ `gp²¾r 

 \cgWpeH    
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8. qBH EYphcV Yr ghpqBWp ²¾pd qBh YcgpG qH qeferHcV ²y¾ _pcW Yy 

\±hcpep gq_ApMpc ²¥¾v qHez \o_pqeW HrWp h± & 2 

9. ‘gc^ gp£Pr g¥\§Wr’ Yy AZr²¾ ApEV epdy qHgy Mpc qh§qgAp Op£ IyWcp£ Yr 

gvMr ^VpG & 
2

1
4=2 

10. JtR q²¾c\yI A¥Y}d²¾ cphs ²¾ez ApkpY h}By Yyfp£ ²¥¾v qY§Wy JBy \o`tI gqha}J Yp 

A²¾®`p²¾ dJpG & 2 

11. YqdW \|Xcg cphs Ap\Vy qhWp£ Yy hH qeM A\VpBrAp£ JBrAp£ qHgy Mpc 

gcJc`rAp£ Yp ecV²¾ Hc} & 14=4 

12. _pcW Yy qHgy Mpc \oZp²¾`¥WcrAp£ Yp ecV²¾ Hc} AWy E²¾ªp£ Yy Hc`epc 

J§S¾O}mp£ Yy ²¾p` qdI} qO²¾ªp£ ²y¾ 1989 W~ 1999 WH Yy Ycq`Ap²¾ g¥Kr gcHpc 

Yr AJepBr HrWr & 14=4 

13. AOyhy qHgy Mpc HpcHp£ E\c c}f²¾r \pG qOhmy g¥atHW cpfRc gtcqIAp 

\crfY qeM _pcW Yr gXpBr g§YgWp Yp g`cX²¾ HcYy h²¾ & 14=4 

14. ‘hqcApdr Hcp£Wr’ Yy qHgy Mpc dp_p£ Yp `td¥HV Hc} & 14=4 

15. _pcW ²y¾ Ap\Vy Ap\ ²¥¾v Y}hp£ `hp£fHWrAp£ Yy Jt§Rp W~ AdJ qHE¤ cqIAp ? 4 

16. Mr²¾ cphs MtHy JBy AOyhy qHgy Mpc HY`p£ Yr qeApqIAp Hc} qOgYy Hpc²¾ 

EgYr AcX qeegXp E¨Mr ES¾r & 14=4 
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17. hyS¾ qY§Wy h}By HpcRv²¾ ²¥¾v qZAp²¾ ²¾pd AqZA±²¾ Hc} AWy EgYy hyS¾ qY§Wy JBy 

\of²¾p£ Yy E¨Wc qd§I} :   

 

(a) qBh HpcRv²¾ qHg Yyf Yy g¥^¥Zr h± ? 

(b) qBg Yyf YrAp£ ApcqXH ²¾rWrAp£ qeM ‘EY~’ W~ ‘htV’ WH ApBy qHgy Y} 

^Ydpep£ Yp `td¥HV Hc} &  

(c) qBg Yyf qeM h}By AO}Hy ^Ydpep£ Yy qHgy Y} ²¾WrqOAp£ Yp A²¾®`p²¾ 

dJpG & 1+2+2=5  
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²}¾R : hyS¾ qdqIAp \of²¾ Hyed qYofRrhr²¾ \orqIApcXrAp£ dBr \of²¾ g¥qIAp 17 Yy 
gXp²¾ Wy h± : 

(17.1) ApqgAp²¾ (ASEAN) Yp qegWpc cv\ Hr h± ?  

(17.2) ApqgAp²¾ Yy `t§I EYyf qdI} & 

(17.3) ‘ApqgAp²¾ f±dr’ W~ Hr _pe h± ? 1+2+2=5 

18. hyS¾ qY§Wy \±cy ²¥¾v qZAp²¾ ²¾pd \m}ª AWy EgYy hyS¾ qY§Wy JBy \of²¾p£ Yy E¨Wc 

qd§I} :  

  1977 YrAp£ M}Vp ²¥¾v O²¾Wp \pcRr ²y¾ A\pWHpd Yy E\c d}H `W 

qBH§S¾p Hc²¾ Yp cv\ qYWp & qBg \pcRr ²y¾ M}V \oMpc qeM Hp£Jcyg fpg²¾ Yy  

J±c-d}HW¥Wcr ApMc²¾ AWy A\pWHpd Yy Y¡cp²¾ HrWrAp£ JBrAp£ qkApYWrAp£ 

E\c k}c qY§Wp & hkpcp d}Hp£ Yr qJc³Wpcr AWy \o±g Yr g|gcqf\ Yr 

q\§S¾_v`r (ApZpc) qeM d}H `W Hp£Jcyg Yy qIdp³ gr & 

(a) ‘d}H `W qBH§S¾p Hc²¾p’ Yp AcX g\fR Hc} &  

(b) ‘‘A\pWHpd Yy Y¡cp²¾, hkpcp d}Hp£ Yr qJc³Wpcr AWy \o±g Yr 

g|gcqf\ Ohy H¥` J±c-d}HW¥Wcr g² &’’ Hr Wtgs qBg HX²¾ ²¾pd 

g±h`W h} ? hc qBH H¥` Yy \§I AWy qec}Z qeM qBH-qBH UtHes 

Ydrd Yy Hy Ap\Vy E¨Wc Yr \tfRr Hc} &   

(c) 1977 YrAp£ M}Vp£ qeM _pcr ^ht`W ²¾pd qOWV Yy ^peOvY, O²¾Wp 

\pcRr Hyed X}my g`z dBr hr g§Wp qeM qHE¤ chr ? g\fR Hc} & 1+2+2=5 
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19. hyS¾ qY§Wy \±cy ²¥¾v qZAp²¾ ²¾pd \m}ª AWy EgYy hyS¾ qY§Wy JBy \of²¾p£ Yy E¨Wc 

qd§I} :  

 Hp£Jcyg Yp O²¾` 1885 qe§M h}qBAp gr & Eg g z̀ qBh ²¾er \rmªr Yy 

\qmªAp£ qdqIAp, H¥`HpOr AWy e\pcH ecJp£ Yp qBH Y^pA g`vh `pWc hr 

gr, \c erhes gYr qeM qBg²y¾ O²¾ A¥Y}d²¾ Yp cv\ d± qdAp & qBg HcHy 

Hp£Jcyg ²y¾ qBH O²¾ qeAp\r cpO²¾rWH \pcRr Yp cv\ qdAp AWy cpO²¾rWH 

qeegXp qeM qBgYp Y^Y^p HpqB` h}qBAp & ftcv-ftcv qeM Hp£Jcyg qeM 

A¥Jcykr ^}dV epdy, E\cdrAp£ OpWrAp£, E\cdy `§Z ecJ AWy fqhcr gcyfR 

ecJ Yp ^}d ^pdp gr & \c Hp£Jcyg ed} OY~ er gqe²¾a AeqJAp Ohy 

A¥Y}d²¾ MdpBy JBy, Eg Yp g`pOH AZpc eqZAp & 

(a) Y^pA g`vh W~ Hr _pe h± ? 

(b) ApOpYr q`dYy q`dYy Hp£Jcyg Yy qBH gWc¥Jr g`pOH JS¾^¥Z²¾ Yy cv\ 

qeM E_c²¾ Yy Hpc²¾ g\fR Hc} & 

(c)  erhes gYr qeM Hp£Jcyg qBH O²¾qeAp\r cpO²¾rWH Yd qHez ^V  

JBr ? 1+2+2=5 

20. hyS¾ qY§Wy \±cy ²¥¾v qZAp²¾ ²¾pd \m}ª AWy EgYy hyS¾ qY§Wy JBy \of²¾p£ Yy E¨Wc 

qd§I} :   

 ‘qHF^p q`gpBrd g¥HR’ S¥¾Ur O¥J Yp ^td¥Y q^¥Yv gr & S¥¾Ur O¥J 

g¥atHW cpO A`yqcHp AWy g}qeaW g¥K AWy E²¾ªp£ Yy gpXr Yyfp£ Yy Ycq`Ap²¾ 

\oWra}JWp, WVpA AWy g¥Kcfp£ Yr qBH dmr Yy cv\ qeM Opcr qchp & M¥Jr 

qHg`W ²¥¾v qB²¾ªp£ WVpep£ AWy g¥Kcfp£ ²y¾ ‘qeAp\H dhv _cy Ot§Z’ Yp cv\ ²¾hs 

qdAp &  
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(a) ‘qeAp\H dhv _cy Ot§Z’ Yp AcX g\fR Hc} & 

(b) ‘qHF^p q`gpBrd g¥HR’ ²¥¾v S¥¾Ur O¥J Yp ^td¥Y (Mc`) q^¥Yv qHE¤ 

g`qPAp Op£Yp gr ?  

(c) ‘‘qeMpcZpcpW`H g¥Kcf er S¥¾Ur O¥J Yp qBH Hpc²¾ gr &’’ Wtgs qBg 

HX²¾ ²¾pd qHg hY WH g±h`W h± ? 1+2+2=5 

21. _pcW Yy qY§Wy JBy cpO²¾rWH cyIp `p²¾qM§Wc (\¥²¾p 9 Wy) qeM \¥O cpOp£ ²¥¾v               

            AWy    cphs YcgpqBAp qJAp h± & hyS¾ qY§Wr OpVHpcr Yy AZpc 

Wy qB²¾ªp£ cpOp£ Yr \qhMpV Hc} AWy Ap\Vr E¨Wc \tgWH qeM qB²¾ªp£ Yy ghr 

²¾p`, ecW~ qeM qdAp£Yr JBr OpVHpcr Yr n` g¥qIAp AWy g¥^¥ZW A§Ic, 

hyS¾ qY§Wr gpcVr Yy A²¾®gpc qd§I} :  

ecW~ qeM qdAp£Yr JBr 
OpVHpcr Yr n` g¥qIAp 

g¥^¥ZW A§Ic cpO Yp ²¾p`  

(i)   

(ii)   

(iii)   

(iv)   

(v)   

(i) Eh cpO qO§Xy OqdAp£epdp ^pJ HWdyAp` h}qBAp gr & 

(ii) Eh cpO qO§Xy ‘A`vd’ ²¾p` hyS¾ Tyacr ghHpqcWp A¥Y}d²¾ ftcv h}qBAp 

gr & 

(iii) Eh cpO qOhmp ‘hqcApdr Hcp£Wr’ cphs dp_e¥Y h}qBAp gr & 

(iv) Eh cpO qOg Yp JS¾²¾ g¥²¾ 2000 qeM h}qBAp gr & 

(v) Eh cpO qO§Xy 1960 Yy YhpHy qeM AHpd ecJy hpdpW g²¾ & 15=5 
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\of²¾ g¥. 21 Yy dBr 

_pcW Yp cyIp `p²¾qM§Wc (cpO²¾rWH) 
Outline Map of India (Political) 
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²}¾R : hyS¾ qdqIAp \of²¾ Hyed qYofRrhr²¾ \orqIApcXrAp£ dBr \of²¾ g¥qIAp 21 Yy 
gXp²¾ Wy h± : 

(21.1) OqdAp£epdp ^pJ Yp HWdyAp` qHg cpO qeM h}qBAp gr ? 

(21.2) ‘A`vd’ Tyacr ghHpcr A¥Y}d²¾ Yr ftcvApW qHg cpO qeM h}Br gr ? 

(21.3) gpd 2000 qeM ^VpBy JBy cpO Yp ²¾p` qd§I} & 

(21.4) _pcW Yy \vc^ qeM gqXW Eg cpO Yp ²¾p` qd§I} qOhmp 1947 Yr 

e¥T Yy g z̀ e¥T Yy Hpc²¾ h~Y qeM ApqBAp gr & 

(21.5) hqcApdr Hcp£Wr W~ g_ W~ eZ dp_e¥Y h}V epdy Y} cpO qHhmy  

h²¾ ? 15=5 

22. ‘‘Hmy `tHp^dy AWy ^htW g¥Kcgp£ Yy ^peOvY, _pcW Yy AqZHp£f cpO²¾rWH 

Ydp£ Yy qeMHpc qBH gh`qW E_cYr `qhgvg h} chr h± &’’ qBg HX²¾ Yy 

g¥Yc_ qeM, eZYr gh`qW Yy qHgy qW¥²¾ W§Wep£ Yp qefdyfV Hc} & 23=6 

Op£ 

‘‘O¥`v-Hf`rc A²y¾HepYr g`pO AWy cpO²¾rWr Yp qBH qO¥Yp EYphcV h± &’’ 

qHgy qW¥²¾ UtHerAp£ Ydrdp£ ²¾pd qBg HX²¾ Yr \tfRr Hc} &   23=6 

23. AO Yy g¥gpc \Zc Wy epWpecV ²¥¾v ²¾®Hgp²¾ \ht¥MpV epdy qHgy qW¥²¾ IWqcAp£ 

Yp qefdyfV Hc} & 23=6 

Op£ 

qeferHc²¾ YrAp£ qHgy qW¥²¾ hp²¾rAp£ Yp qefdyfV Hc} & 23=6 

24. 1975 qeM A\pWHpd K}fW HrWy OpV Yy qHgy qW¥²¾ \o t̀I Hpc²¾p Yp q^Gcp 

qYG & 23=6 

Op£ 

qB¥Ycp Jp£Zr cphs ‘Jcr^r hRpG’ \o}Jcp` ²¥¾v dpJv Hc²¾ Yy dBr MtHy JBy qHgy 

Mpc HY`p£ Yp ecV²¾ Hc} & 1
2

1
4=6 
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25. g¥atHW cpfRc gtcqIAp \qcfY Yy ²¾ez gXpBr AWy AgXpBr gY§gp£ Yy dBr 

Hg¡Rr Yy W¡c Wy \ogWpeW Ny gtZpcp£ Yp q²¾crIV Hc} & 16=6 

Op£ 

_pcW Yr gtcqIAp cV²¾rWr Yy qHgy qW¥²¾ e§Ty _pJp£ (KRHp£) Yp qefdyfV  

Hc} &  23=6 

26. g¥atHW cpO A`yqcHp cphs HrWy JBy qHgy qW¥²¾ Ap\oyf²¾ (³¡Or HpcepBrAp£) Yp 

ecV²¾ Hc} qO²¾ªp£ W~ A`yqcHp Yr ³}Or fHWr Yr gc^}WgWp gXp\W AWy qg§Z 

h}Br &  23=6 

Op£ 

_pcW AWy \pqHgWp²¾ Yy Ycq`Ap²¾ qHgy qW¥²¾ RHcp Yy `t§qYAp£ Yp ecV²¾  

Hc} &  23=6 

27. ‘fpH X±cy\r’ Yp Hr _pe h± ? fpH X±cy\r Yy qHgy Mpc ²¾WrqOAp£ Yr 

qeApqIAp Hc} & 2+4=6 

Op£ 

q²¾Mdy YcOy Yy qeHgW Yyfp£ Yy qeHpg Yy dBr ‘²¾es A¥Wc cpfRcr ApcqXH 

qeegXp’ (NIEO) Yy qeMpc ²¥¾v g\fR Hc} & qefe \§Zc Wy e\pc \oVpdr qeM 

gtZpc qdApEV Yy dBr at²¾pqBqRT ²y¾f²¾g Hp²¾³czg Ap²¾ RcyT A|T 

qTeyd\`zR cphs 1972 qeM \cgWpeW qHgy qW¥²¾ gtZpcp£ E\c c}f²¾r \pG & 3+3=6 

 

100 


